Year 6 Maths SATS Subtraction Solutions

Key Stage 2

Mathematics

Subtraction

Booklet 10: solutions

Name

Date of Birth Day

Month

Year

School




Instructions

These solutions here correspond to the related exercise booklet.

You can work on the tasks from the exercise booklet in class or at
home independently. It is well known that repeated practising of
exercises is more effective than re-reading information over and over
again when it comes to revision. Therefore, you should try to follow

the steps below:

e Always try to solve the exercise yourself first.

e Then compare your solution with the actual solution from this
booklet. You will be able to check whether you have
understood the task correctly or not.

e If you notice that you have not understood the task correctly,
try solving it again.

e If you still have problems solving the task, ask your teacher
or parent for help.

¢ Also make a note of the tasks you have difficulties with and
try solving them again at a later time.

e Practicing the exercises should be spaced out over time so

that it is most effective for you.

Best wishes!
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